run_13042050 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13042050 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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Sat Feb 11 21:45:02 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13042050 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13042050 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Feb 11 21:41:05 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13042050 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

300

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

i
120
APV channel

T

50

40

30

20

10

°'HI1]'I'HI]'I'I'H|11'ITIII1 T

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

400 =
350
300 [
250 [
200
150
100

50 B

0

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

APV channel

APV channel




run_13042050 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Feb 11 21:41:35 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

in=2,Disc=

imeb

Sat Feb 11 21

run_13042050_FGT_MPV_1,T

:07 2012

45

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13042050 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Sat Feb 11 21:45:42 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13042050 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Sat Feb 11 21:41:40 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADC-ped

10

3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

ADC-ped

3000 4000
raw ADC

1
2000

ADC for FGT RDO=LARM=LAPV=14__ |
—

ADC-ped

1
3000 4000
raw ADC

i i
1000 2000

ADC for FGT RDO=1,ARM=1,APV=15

ADC-ped

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=LAPV=16 __§

0 1000

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L Rk [L TR P T TP T P PRSP PPPEE PPPE i) PP P PP T L PRS ST EEPP STPPRPST PEPSPPRRTERRSPPRE SPr
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13042050 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 11 21:45:07 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13042050 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 11 21:45:42 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

T e T e e o LT o EL T e LT P

RMS (ADC-ped)

i i
100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

700 v e R LR TR PR, T LR TR TR poooscoosoac00ss00500 fpocoosconooscanscacoang LR o o

600

RMS (ADC-ped)

500 [+

400

300

200 : : Bocooosacacoasaacacasadhonasaasacasaaacacadbbd P R

Ii]— L —
120
APV channel

100
—

0

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

700

600

RMS (ADC-ped)

APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}
700 F

600

RMS (ADC-ped)

500

H
0 20 40 60 80 100 120
APV channel

3 200

&

g 180 f—/——

)

@ 160 f

=

(5 140
120 =
100

80
60
40

20 p—=

i
120
APV channel

0




run_13042050 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 11 21:41:56 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

ADC-ped

2000

[ 1000

3000
raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

4000

o
3
[
o
a
<
10
B St
3000 4000
raw ADC
[ Apcfor Fet RDO=LARM=1APV-19 ]
5
3
[
o
a
<
10
[ i i i
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=20 |
5
3
[
)
a
<
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1ARM=LAPV=21 |
o
3
[
o
a
<
10
0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=1APV=17 }
= 4000
&
Q 3500
<
3000
2500
2000
1500
1000
500
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=18 }
= 4000 p—
& = : : : : : :
9 3500 f=—
< =
3000 f=—
2500 f=—
2000 fm/——
1500 E—
1000 E—
500 f—
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=19 }
= 4000 p=
g = o o o o o 5
3’ 3500 %— ------- -
< =
3000 f=—|- -+ - - - - --
=
2500 p=p—]- - - - - - .-
2000 f=+ oofpee
1500 === - === - - 2o
1000 §— ------- 2o
500 g— ------- .-
0 = e
=
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
g = 8
Q 3500 f=—|- - {-"1 - [ER TR o EEEE -
< =
3000 fm—1|-4-{--t- R EEEE B R e
2500 fp=—y-{-{- -1 - U N - AN
2000 fm—|- {-{-- 1 - aaspasagpilpeacs dhocas
=
1500 f—|-{-1- -t - EEE TR B R -
100051—- alloobafeandpgllanspacsdbdkeasa BT
soof-—- I EEL L EPEP FPE PR TEPE B FEPE e
= 8
Of |- - =-r-t-refmaqrmpmn- - e
= i
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=21 .
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°THI'|‘ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13042050 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 11 21:45:08 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13042050 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Sat Feb 11 21:45:43 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

300 f— ]
250 f—
200 f—
150 f—
100 f
50 A
® 2 Zi() 4‘0 6:) SE) 1[;0 l;()
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

RMS (ADC-ped)

60 p—
50 fe—
40

30

20

10

°'I'HI[HII|HII]1111'|1

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

RMS (ADC-ped)

60

50

40

30

20

10

ﬁlﬂ%ﬂﬂlﬂﬂlm

RMS (ADC-ped)

500

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

RMS (ADC-ped)

70

60

50

FFFRIT] 'I1IIITI'I

APV channel




run_13042050 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 11 21:42:15 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADC-ped

Tt
3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

ADC-ped

1 1 1
1000 2000 3000 40(

0
raw ADC
[ADC for FGT RDO=1,ARM=2,APV=3 }
5
3
[
Q
[a]
<
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1,ARM=2,APV=4 }
o
3
[
Q
=]
<
10
0 1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

= 4000 p—
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B VR £ EPE R | T [E ST
< =
3000 P=f—|- <= {-t-f---- egoi|=|i=p==qkk=g==> oofpoocscas 1
=
P = o EEERER S RERER AEEE B ELERE | ERERER] I & oofpoocscas
= 8
2000 f=—|- <~ {-t-f---- CER B B EEE § EEE R | EEEREE oofpoocscas
= i
1500 |- [« 4=t < p -~ - B EIERE E EEE PR | B 10t
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|ollcposdilslses R
= 2 8
= . 5
() ;== o EREEEE BN EEEEE SETE B B KRR | EEE EEE] J REEECE S GELELEL 102
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1
4000

3500

ADC-ped

3000

2500

2000

1000

500

0

10

10°

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2
4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aildEIRTERIAGNATGRAARNAGRARRIATENATENATENAG]

10°

10"

[ ADC for FGT RDO=1,ARM=2,APV=3
4000

80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

© T TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4
4000

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

10

° R A A A

APV channel




run_13042050 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 11 21:45:10 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13042050 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 11 21:45:45 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

300 e e LR E TP PP LT T ¥ EEPEP R LT TP L L LT T PP R LT TP P R e

I e CCE R T TR PP TR P PP PR PP § B L R P P R L TR L R P P e

RMS (ADC-ped)
T

e eseeennenaoneeaes [ pescasmeseasacseazacse: esemosenaecseaeesoss peseasmeseasacseazacse: S

50 o o It | RTINS e IR e

1
120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

g L e N T ereereieieetereseseos erereseriiieieieoioies eeereieieoseieseseos NPT
3 [ g b b b b 5
O — .
a —
< — 2 2 2 2 2 2
b @D | I=—cocacacosaaccanana jleoocso fpeosossssscd GRIELELELECLECELLELELEL Peos0000006050900605004 Poosoocosaconansossscod Peos0c00006050900605004 Poosooco
z —
oy
9D | =—=se=ssacssacssacsns " EEEEEEES | EPPPPRPRPRRS T PP TP PP TP ES TP PP feeaeaes
[=
200 e e S EEERETEL E FEPEEPRPRRRE D EETTLT R RT SR TEEE P PEE PR PR PR P L R TTLTELTRE SR T EEE P PEE PR PR PRRPEE CETTEEE
= : : : : :
200 ot I I A
[ o b b b b 5
JEo.n nrl il o nwﬁnnwww
0 60 80 100 120
APV channel

50 p— S LR TR RS B EEEPP O LT PP L LT P PP P R R LT PR L LT P PP P e

RMS (ADC-ped)

40

30

20

10

B - IED0IXIC0OXEECOIE0OIXEOx] |

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13042050 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Feb 11 21:42:28 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

10

Tt
3000 4000
raw ADC

1
3000 40(
raw ADC

1
2000

1
1000

S}

[ADC for FGT RDO=1,ARM=2,APV=8 }

ADC-ped

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=9 l

ADC-ped

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }
4000

3500

ADC-ped

3000
2500
2000 =
1500
1000

500

0

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
ofE—--
=
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13042050 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 11 21:45:11 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13042050 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Feb 11 21:45:46 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

300

250

200

150

100

50

0

°'I'HI|I111'|'I'I'ITIHII]1'I'I'I'|'HH|

[ ADC RMS for RDO=1,ARM=2,APV=6 }

i
120
APV channel

g 140 p—
Q i
2 120
o
=
© 100 [
80
60 [+
40
ey
P ) L 1 N NN e ) RN W) I -l DR PN I o) I AR L R 1§ ) 5l 1 5 PRI IS oY I o ) S IO Y - PO
= i
0% 120
APV channel
[ ADC RMS for RDO=1,ARM=2,APV=7 }
g —
g 80
o
[a}
< 70
2
x 60
50

40

30

20

10

0

il iR i

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

RMS (ADC-ped)

100

APV channel

i . . .
100 120
APV channel




run_13042050 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 11 21:42:33 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13042050 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sat Feb 11 21:45:12 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13042050 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Feb 11 21:45:47 2012
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run_13042050 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 11 21:42:35 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Sat Feb 11 21:45:12 2012
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run_13042050 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Feb 11 21:45:47 2012
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run_13042050 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 11 21:42:39 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sat Feb 11 21:45:13 2012
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run_13042050 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 11 21:45:48 2012
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run_13042050 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 11 21:42:41 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 11 21:45:13 2012
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run_13042050 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 11 21:45:48 2012
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run_13042050 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 11 21:42:46 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 11 21:45:15 2012
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run_13042050 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Feb 11 21:45:49 2012
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run_13042050 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 11 21:42:50 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 11 21:45:16 2012
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run_13042050 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Feb 11 21:45:50 2012
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run_13042050 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sat Feb 11 21:42:53 2012
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run_13042050 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Feb 11 21:45:52 2012
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run_13042050 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Feb 11 21:45:52 2012
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run_13042050 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13042050 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13042050 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
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run_13042050 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
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run_13042050 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13042050 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Sat Feb 11 21:43:20 2012
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run_13042050 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13042050 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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